
8009 8009.5 8010 8010.5 8011
cyclenum

1−

0.5−

0

0.5

1

al
ph

a1
3_

4e
X

4a
X

alpha13_4eX4aX:cyclenum {run == 7097}

8009 8009.5 8010 8010.5 8011
cyclenum

14.6

14.8

15

15.2

15.4

15.6

15.8

16

16.2

16.4

16.6

16.8

al
ph

a4
6_

4e
Y

4a
Y

alpha46_4eY4aY:cyclenum {run == 7097}

8009 8009.5 8010 8010.5 8011
cyclenum

1.5−

1−

0.5−

0

0.5

de
lta

13
_1

1X
12

X
4e

X

delta13_11X12X4eX:cyclenum {run == 7097}

8009 8009.5 8010 8010.5 8011
cyclenum

0.4−

0.2−

0

0.2

0.4

0.6

0.8

1

1.2

1.4

1.6

1.8

de
lta

46
_1

1X
12

X
4e

Y

delta46_11X12X4eY:cyclenum {run == 7097}



8009 8009.5 8010 8010.5 8011
cyclenum

126.5−

126−

125.5−

125−

124.5−

us
l_

4a
X

usl_4aX:cyclenum {run == 7097}

8009 8009.5 8010 8010.5 8011
cyclenum

7.2

7.4

7.6

7.8

8

8.2

8.4

8.6

8.8

9

9.2

9.4

us
l_

4a
Y

usl_4aY:cyclenum {run == 7097}

8009 8009.5 8010 8010.5 8011
cyclenum

60

60.2

60.4

60.6

60.8

61

61.2

61.4

61.6

61.8

62

62.2

us
l_

4e
X

usl_4eX:cyclenum {run == 7097}

8009 8009.5 8010 8010.5 8011
cyclenum

13.5

14

14.5

15

15.5

us
l_

4e
Y

usl_4eY:cyclenum {run == 7097}

8009 8009.5 8010 8010.5 8011
cyclenum

42−

41.5−

41−

40.5−

40−

us
l_

11
X

12
X

usl_11X12X:cyclenum {run == 7097}

8009 8009.5 8010 8010.5 8011
cyclenum

7095

7095.5

7096

7096.5

7097

7097.5

7098

7098.5

7099

ru
n

run:cyclenum {run == 7097}



8009 8009.5 8010 8010.5 8011
cyclenum

156−

155.5−

155−

154.5−

154−us
r_

4a
X

usr_4aX:cyclenum {run == 7097}

8009 8009.5 8010 8010.5 8011
cyclenum

9.5

10

10.5

11

11.5

us
r_

4a
Y

usr_4aY:cyclenum {run == 7097}

8009 8009.5 8010 8010.5 8011
cyclenum

207.5

208

208.5

209

209.5

us
r_

4e
X

usr_4eX:cyclenum {run == 7097}

8009 8009.5 8010 8010.5 8011
cyclenum

5

5.5

6

6.5

7

us
r_

4e
Y

usr_4eY:cyclenum {run == 7097}

8009 8009.5 8010 8010.5 8011
cyclenum

41−

40.5−

40−

39.5−

39−

us
r_

11
X

12
X

usr_11X12X:cyclenum {run == 7097}

8009 8009.5 8010 8010.5 8011
cyclenum

7095

7095.5

7096

7096.5

7097

7097.5

7098

7098.5

7099

ru
n

run:cyclenum {run == 7097}



8009 8009.5 8010 8010.5 8011
cyclenum

36179

36179.5

36180

36180.5

36181

us
l_

co
il1

usl_coil1:cyclenum {run == 7097}

8009 8009.5 8010 8010.5 8011
cyclenum

7194.6

7194.8

7195

7195.2

7195.4

7195.6

7195.8

7196

7196.2

7196.4

7196.6

7196.8

us
l_

co
il3

usl_coil3:cyclenum {run == 7097}

8009 8009.5 8010 8010.5 8011
cyclenum

4485

4485.2

4485.4

4485.6

4485.8

4486

4486.2

4486.4

4486.6

4486.8

4487

4487.2

us
l_

co
il4

usl_coil4:cyclenum {run == 7097}

8009 8009.5 8010 8010.5 8011
cyclenum

319−

318.5−

318−

317.5−

317−us
l_

co
il6

usl_coil6:cyclenum {run == 7097}

8009 8009.5 8010 8010.5 8011
cyclenum

16366.6

16366.8

16367

16367.2

16367.4

16367.6

16367.8

16368

16368.2

16368.4

16368.6

16368.8

us
l_

co
il7

usl_coil7:cyclenum {run == 7097}

8009 8009.5 8010 8010.5 8011
cyclenum

7095

7095.5

7096

7096.5

7097

7097.5

7098

7098.5

7099

ru
n

run:cyclenum {run == 7097}



8009 8009.5 8010 8010.5 8011
cyclenum

29969.4−

29969.2−

29969−

29968.8−

29968.6−

29968.4−

29968.2−

29968−

29967.8−

29967.6−

29967.4−

29967.2−

us
r_

co
il1

usr_coil1:cyclenum {run == 7097}

8009 8009.5 8010 8010.5 8011
cyclenum

5940−

5939.5−

5939−

5938.5−

5938−

us
r_

co
il3

usr_coil3:cyclenum {run == 7097}

8009 8009.5 8010 8010.5 8011
cyclenum

3482.6

3482.8

3483

3483.2

3483.4

3483.6

3483.8

3484

3484.2

3484.4

3484.6

3484.8

us
r_

co
il4

usr_coil4:cyclenum {run == 7097}

8009 8009.5 8010 8010.5 8011
cyclenum

336−

335.5−

335−

334.5−

334−

us
r_

co
il6

usr_coil6:cyclenum {run == 7097}

8009 8009.5 8010 8010.5 8011
cyclenum

19640

19640.2

19640.4

19640.6

19640.8

19641

19641.2

19641.4

19641.6

19641.8

19642

19642.2

us
r_

co
il7

usr_coil7:cyclenum {run == 7097}

8009 8009.5 8010 8010.5 8011
cyclenum

7095

7095.5

7096

7096.5

7097

7097.5

7098

7098.5

7099

ru
n

run:cyclenum {run == 7097}



8009 8009.5 8010 8010.5 8011
cyclenum

465.5−

465−

464.5−

464−

463.5−

4a
X

_c
oi

l1

4aX_coil1:cyclenum {run == 7097}

8009 8009.5 8010 8010.5 8011
cyclenum

79−

78.5−

78−

77.5−

77−

4a
X

_c
oi

l3

4aX_coil3:cyclenum {run == 7097}

8009 8009.5 8010 8010.5 8011
cyclenum

29.5

30

30.5

31

31.5

4a
X

_c
oi

l7

4aX_coil7:cyclenum {run == 7097}

8009 8009.5 8010 8010.5 8011
cyclenum

539.5−

539−

538.5−

538−

537.5−

4e
X

_c
oi

l1

4eX_coil1:cyclenum {run == 7097}

8009 8009.5 8010 8010.5 8011
cyclenum

104.8−

104.6−

104.4−

104.2−

104−

103.8−

103.6−

103.4−

103.2−

103−

102.8−

102.6−

4e
X

_c
oi

l3

4eX_coil3:cyclenum {run == 7097}

8009 8009.5 8010 8010.5 8011
cyclenum

30

30.5

31

31.5

32

4e
X

_c
oi

l7

4eX_coil7:cyclenum {run == 7097}



8009 8009.5 8010 8010.5 8011
cyclenum

173

173.5

174

174.5

175

4a
Y

_c
oi

l4

4aY_coil4:cyclenum {run == 7097}

8009 8009.5 8010 8010.5 8011
cyclenum

63

63.2

63.4

63.6

63.8

64

64.2

64.4

64.6

64.8

65

65.2

4a
Y

_c
oi

l6

4aY_coil6:cyclenum {run == 7097}

8009 8009.5 8010 8010.5 8011
cyclenum

8.5−

8−

7.5−

7−

6.5−

4a
Y

_c
oi

l7

4aY_coil7:cyclenum {run == 7097}

8009 8009.5 8010 8010.5 8011
cyclenum

186.5

187

187.5

188

188.5

4e
Y

_c
oi

l4

4eY_coil4:cyclenum {run == 7097}

8009 8009.5 8010 8010.5 8011
cyclenum

5.8−

5.6−

5.4−

5.2−

5−

4.8−

4.6−

4.4−

4.2−

4−

3.8−

3.6−

4e
Y

_c
oi

l6
4eY_coil6:cyclenum {run == 7097}

8009 8009.5 8010 8010.5 8011
cyclenum

6.5−

6−

5.5−

5−

4.5−

4e
Y

_c
oi

l7

4eY_coil7:cyclenum {run == 7097}



8009 8009.5 8010 8010.5 8011
cyclenum

258−

257.5−

257−

256.5−

256−

11
X

12
X

_c
oi

l1

11X12X_coil1:cyclenum {run == 7097}

8009 8009.5 8010 8010.5 8011
cyclenum

89.8−

89.6−

89.4−

89.2−

89−

88.8−

88.6−

88.4−

88.2−

88−

87.8−

87.6−

11
X

12
X

_c
oi

l3

11X12X_coil3:cyclenum {run == 7097}

8009 8009.5 8010 8010.5 8011
cyclenum

2

2.5

3

3.5

4

11
X

12
X

_c
oi

l4

11X12X_coil4:cyclenum {run == 7097}

8009 8009.5 8010 8010.5 8011
cyclenum

2.6

2.8

3

3.2

3.4

3.6

3.8

4

4.2

4.4

4.6

4.8

11
X

12
X

_c
oi

l6

11X12X_coil6:cyclenum {run == 7097}

8009 8009.5 8010 8010.5 8011
cyclenum

453−

452.5−

452−

451.5−

451−

11
X

12
X

_c
oi

l7

11X12X_coil7:cyclenum {run == 7097}

8009 8009.5 8010 8010.5 8011
cyclenum

7095

7095.5

7096

7096.5

7097

7097.5

7098

7098.5

7099

ru
n

run:cyclenum {run == 7097}
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